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i What is a Quadrilateral? |

| o A quadrilateral is a two-dimensional figure that has |
| exactly four sides, four vertices and four angles. I




TYPES OF QUADRILATERALS

L NAME/DRAWING [ DESCRIPTION

I RECTANGLE | e Opposite sides are parallel and equal.
i | Allangles are 90°.
; e The diagonals bisect each other.

L. - — . _. L . _

I SQUARE | e Opposite sides are parallel and all

i | | sides are equal.

' : | All angles are 90°.

‘do e Diagonals bisect each other at right

IY/ I angles.

'_ ............... '_ ......................... _l
TRAPEZOID e |t has one pair of opposite sides

I I parallel.

I / \ I e It has non-parallel sides equal and its
I I

I I

base angles are equal, as shown in
the diagram.

e All sides are equal and opposite sides

I

| are parallel.

| e Opposite angles are equal.

i e The diagonals bisect each other at
: right angles.

L L _

Two pairs of adjacent sides are equal. |
One pair of opposite angles is equal. |
Diagonals intersect at right angles. ;
The longest diagonal bisects the I
shortest diagonal into two equal parts. I

-
PARALLELOGRAM : e Opposite sides are parallel and equal.

: .o Opposite angles are equal. :
I / / |« Diagonals bisect each other |




AREA OF OTHER QUADRILATERALS

— T |
C .

I i Rectangle

|
| Formula:A=b x h |
| Where |
I e |=length |
i |
| |

| o w=width

Square
Formula: A = b?

[
I
I
i Where
|
I
I

e X = side length
b of the square

Parallelogram

Formula: A=b x h
1
''h / Where
|

! e Db =base
5 —> e h = height




AREA OF OTHER QUADRILATERALS

Trapezoid

Formula: A =" (a+b)h
Where
e a = upper base
e b =lower base
e h = height

Rhombus

Formula using base and Formula using diagonals:

height: A =" (a+b)h A="%(D,xD,)
Where Where
° b= base e D, ,andD,are

e h = height diagonals

— T l
C .

! ite
|
|
|

|
|
Formula: A=": (D, xD,) |
|
|
|

Where
e D.andD,are
diagonals




LET’S PRACTICE!
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FIGURES AT THE FARM

Gina is seeing a lot of figures at the farm in her province. Help her
identify the figures being described below. Write your answers on

the space provided.

1. Opposite sides are parallel and equal.
e Allangles are 90°.
e The diagonals bisect each other. :
2 , Y
o All sides are equal and opposite sides are parallel.
e Opposite angles are equal.
e The diagonals bisect each other at right angles.
3 L
o Opposite sides are parallel and equal.
o Opposite angles are equal.
e Diagonals bisect each other.
4

o Opposite sides are parallel and all sides are equal.
e Allangles are 90°.
o Diagonals bisect each other at right angles.

S . It has one pair of opposite sides parallel.
e It has non-parallel sides equal and its base angles are
equal, as shown in the following diagram.




HORSEBACK RIDING

Carl will be allowed to join horseback riding if he managed to
identify the quadrilaterals below. Help him by coloring all the

quadrilaterals. Write the name inside the figure.




PICK SOME FLOWERS

Janna will give her mom some flowers for her birthday. Help Janna
pick some flowers at the garden by choosing the correct name of
the figure from the choices and write it inside the box.

6?/. a.) rhombus o d.) rectangle

b.) trapezoid e.) kite
c.) parallelogram * f.) square

1 ! | 2 ! |
3 | | 4 | |
5 !_ ....... N !_ ....... |




Identify the name of

the figures below. Search and encircle the names, write your

answers on the space provided.

-
©

3.)

5.

2.)
QUADRILATERALS

UNDER THE MANGO TREE

Dina and her cousins are playing word hunt under a huge mango

tree. Help her win by answering the following.

4.)

1)
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ANIMAL HOUSES

Lino is planning to create animal houses in his farm. Help him
create the houses by answering the following problems. Show

your solution on the space provided.

1.) The bases of a
trapezoid are 6 cm and 9
cm. The height us 7 cm.
What is the area?

A

3.) A kite has a short
diagonal of 10 cm and
long diagonal of 18 cm.
What is the area of the
kite?

2.) The length of a
rectangular lot is 50m and
the with is 36m. What is
the area of the lot?

4.) A square-shaped
picture frame has a side
length of Sin. What is the
area of the frame?




FARMLANDS

Joseph owns 4 farmlands in the form of trapezoid, parallelogram,
kite and rhombus. He wants you to help him solve for the area of

his farmlands. Do that by answering the following. Show your
solutions on the space provided.




VACATION AT THE PROVINCE

Marie will have her vacation at the province if she managed to
answer the following. Based on the given dimensions, find the
area of the following figures. Show your solution on the space

provided.

Rectangle

1 b=4 cm §>§>

h=9 cm

Parallelogram

2 b= 13 cm §>§>

h= 9 cm

Trapezoid
b,=12 cm
1
£ b,=16 cm §>§>

h=7 cm

Rhombus

4 D,=6cm §>§>

D2= 8cm




HOUSE AT THE PROVINCE

Yen built a vacation house in the province. Help her choose the
things she need to buy for the new house by choosing the letter
of the correct answer. Write the letters inside the box. Find the

area of the following and show your solution on the space
provided.

1 A 2

sa 3
3 4 —
12
1 A - d - |7
15 E
2 0 \
[

c.) 27 unit?

d.) 70 unit?

4
g |




HARDWORKING FARMER

Mario is a farmer in a rice field in the province. He wants to
measure the land areas first before planting the rice. Help him find
the value of x and the area of the following figures. Show your
solution on the space provided.

e @_____; _____ =

({ce
e
=
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Rice cakes in the province come in different shapes. You will be
given some rice cakes if you managed to illustrate and find the
area of the given the dimensions below. Show your solution on

RICE CAKES FOR YOU

the space provided.

Rhombus
1) ID1=11cm >
D2 = 8 cm
) /',
Rectangle |
2.) | b=14cm >
h= 6 cm |
l
'~
D /
Kite
3) |D1=12cm >
D2 =16 cm

lHlustration

Solution

v

4,

Parallelogram
b= 15
h=10




ANSWER GUIDE

Activity 1
1.) Rectangle 2.) Rhombus 5.) Trapezoid
3.) Parallelogram 4.) Square
Activity 2
Trapezium
L/| rectangle Q
o [\
/éarallelogr%
/ trapezoid \
Activity 3
1.) f-square 3.) d- rectangle 5.) e- kite
2.) c- parallelogram 4.) b- trapezoid 6.) a- rhombus
Activity 4
1.) square 3.) rectangle 5.) kite

2.) parallelogram 4.) trapezoid 6.) rhombus




ANSWER GUIDE

{ QUADRILATERALS }

Activity 5

Activity 6

AGBGWOVTRAPEZOI DDGWAOBGVA
STKETMWJSETKTTWKETSMKEWS
DRJWGAEDDWGI DGEJ WGDAJ WED
GHF GK VGGKI TEJ]SFGKGSFGSG
VBDHNXQNVHNDVNXDHNVXDHXYV
RHOMBUSIURECTANGLEMRCCNFR
SKBMVFFYAWMVBSVFBMVSFBMFS
GBJJGDGJGRGJGGGJJGGDJ JGG
HVYUHGCHK JLDELGARAPUCH
JDRUYGGRMARGOLELLARAPYGJ
1.)A =% (a+b) h 3.)A=D, xD,
A= (6+9)(7) A=18x 10
= 52.5 cm? =180 cm?
2)A=bxh 4.) A = b?
= 50 x 36 A= 52
= 1800 cm? = 25 cm?
1.)A =% (a+b) h 3.)A=D, xD,
A =" (10+8)(6) A=4x9
= 240 unit? = 36 unit?
2)A=bxh 4)A=bxh
= 12x16 =4 x5
= 192 unit? = 20 unit?

a Y,
48




Activity 7

1)A=bxh
A=4x9
= 36 cm?

2)A=bxh
= 13x9
=117 cm?

Activity 8

1)A=D, xD,
A=7x10
=70 unit® d

2)A=bxh
= 3x9
= 27 unit? ¢

Activity 9

1.)5+x=38
x=3
A=Ilxw
A=8x3
= 27 unit?
3.)3+x=11
X=8
A=bxh
=11x8
= 88 unit?

ANSWER GUIDE

3.)A =% (a+b) h
A= % (12+16)(7)
= 98 cm?

4)A=D,xD,
=6x8
= 48 cm?

3.)A =% (a+b) h
A=Y (12+15)(4)
= 54 unit® a

4)A=b?
= 72
=49 unit? b

2)4+x=8
Xx=4
A="(atb)h
A=Y (9+5)(7)
= 49 unit?

4)1+x=5
x=5
A= Db?
:52
= 25 unit?

4
Q

%




ANSWER GUIDE

Activity 10

1)A=D, xD, 3.)A=D,xD,
A=11x8 m =12x 16 ‘
=192 cm?

= 88 cm?

2)A=bxh 4)A=bxh :
=14x6 |6 A=15x10 /i
= 84 cm? 14 =150cm? || 15




Copyright Notice

This resource is licensed under the Creative Commons
Afttribution-NonCommercial 4.0 International license.

You are free to:

e Share — copy and redistribute the material in any medium or
format
e Adapt — remix, transform, and build upon the material

Under the following terms:

e Attribution — You must give appropriate credit, provide a link
to the license, and indicate if changes were made. You may
do so in any reasonable manner, but not in any way that
suggests the licensor endorses you or your use.

e NonCommercial — You may not use the material for
commercial purposes.

For more information on this license, visit the following link:

http://creativecommons.org/licenses/by-nc/4.0/

Where possible, free-use images are sourced from online
repositories such as Wikipedia and Wikimedia Commons.
References and sources for images are provided in the speaker
notes section of this document.

Thank you!
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Thank you

Thank you so much for purchasing and downloading this
resource.

We hope it has been useful for you in the classroom and that your
students enjoy the activities.

For more teaching and homeschooling resources like this, don'’t
forget to come back and download the new material we add every
week!

Thanks for supporting Helping With Math. We can provide
teachers with low-cost, high-quality teaching and homeschooling
resources because of our loyal subscribers and hope to serve you
for many years to come.

- The Entire Helping With Math Team :)



https://helpingwithmath.com/worksheets/

